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There are FIVE questions in all

Answer ONE question from Section A,
ANY TWO questions from Section B,

AND

ANY TWO questions from Section C
Calculators must not be used to store text and/or formulae nor be capable of communication. 

Invigilators may require calculators to be reset
Section A – this question is compulsory

Question 1

The following information was extracted from Hoy Ltd's accounting records as at 31 December 2006.
Prepare an income statement for Hoy Ltd for the year ended 31 December 2006 and a balance sheet as at that date. 
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Electricity

4,500

            

 

Opening inventory 

7,000

            

 

Purchases

38,000

          

 

Rents received 

3,800

            

 

Sales

251,000

        

 

Sundry Administrative Expenses

2,700

            

 

Wages

57,000

          

 

Bank

3,700

            

 

Trade payables

4,117

            

 

Trade receivables

10,417

          

 

Delivery vans - cost

33,000

          

 

Delivery vans - depreciation

9,250

            

 

Fixtures - cost

170,000

        

 

Fixtures - depreciation

68,000

          

 

Long term loan

40,000

          

 

Premises - cost

650,000

        

 

Premises - depreciation

143,000

        

 

Share capital

400,000

        

 

Accumulated profits

57,150

          

 

976,317

        

 

976,317

        

 


1) 
Inventory on Hoy Ltd's premises was counted on the last day of the financial year and was valued at £9,000.                 

2) 
During the year the company traded in its only delivery van (which had cost £16,000 and had been depreciated for three years) against a new model which had a list price of £24,000. The company's bookkeeper has entered the net cost of the new van in the delivery vans account and has made no further adjustments with respect to this transaction.                    

3) 
The company depreciates premises at 2% of cost per annum,   fixtures at 10% of cost and delivery vans at 25% on the reducing   balance method. A full year's depreciation is charged in the year of acquisition and none in the year of disposal. Depreciation for the year has not yet been included in the accounting records.

4) 
The company has accrued wages of £1,100 at the end of the year and prepaid an insurance premium - which is included in sundry administrative expenses - by £400.                      

 5) 
Interest on the long term loan is charged at a rate of 12% per   annum. The interest for the year ended 31 December 2006 will be paid in January 2007.                                  

(40 marks)
Section B – answer any TWO questions

Question 2
(i) The following data is available for David’s Toyshop as at 31 December 2006.

	
	£

	Turnover
	60,000

	Gross profit
	25,000

	Expenses
	20,000

	Net Profit
	5,000

	
	

	Fixed Assets
	87,000

	Stock
	13,000

	Debtors
	9,000

	Bank
	5,000

	Current liabilities
	18,000

	Capital
	68,000


Calculate the following ratios:

(a) Return on capital employed

(b) Gross profit margin

(c) Net profit margin

(d) Current ratio

(e) Acid test ratio

(10 marks)

(ii) Explain why ratio analysis is useful to users of accounting information.

(5 marks)

(Total 15 marks)
Question 3
From the following information draw up a cash budget for the four months from January 2006 to April 2006.

	
	Sales
	Purchases

	Dec 2005
	£26,000
	£30,000

	Jan 2006
	£28,000
	£28,000

	Feb 2006
	£36,000
	£31,000

	Mar 2006
	£42,000
	£33,000

	Apr 2006
	£29,000
	£30,000


· Sales are received in the month after they were made. Purchases are on the basis of 50% for immediate payment and the remainder are paid one month in arrears.

· Overheads of £5,000 per month are paid when they are due.

· In February a new machine is acquired for £22,000 which is paid half at the time of purchase and half in May 2006.

· As at 1 January 2006 the balance in the business current account was at £8,435.

(15 marks)

Question 4
Explain why it can be difficult to resolve accounting problems by referring to accounting concepts.
(15 marks)
Question 5
Explain the advantages of computerising the bookkeeping system.
(15 marks)
Section C – answer any TWO questions

Question 6

Explain what information is needed in order for a management accountant to perform his or her job effectively.

(15 marks)
Question 7

Explain the nature and usefulness of ‘break-even’ analysis, illustrating your discussion with a diagram.

(15 marks)
Question 8

Compare and contrast financial accounting with management accounting.

(15 marks)
END OF PAPER
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